e~
Tn (y) = - Zu;yuuz
e
1 , 1w ,
Toly) = — > ubyuy' Taly) = — > wiyuy’
i=1

— =
Lemma.ZFor v =20,1let F§ C Fo be the set of all reduced words in u}l‘ With the notation as
above we have

ey [y ify€EFy
nh~>moo Tr(y) = { 0 else

Recall that canonical trace is defined as follows: 7: C}(G) — C
7(x) = (be, xbe) -
Ifx =37, cqadr € C[G] C CY(G) then we get
T(z) = Z T (0) = «
teG
Given n € N we define a linear map T, : C} (F2) — C} (F2) by

el

T, TITO(y iy th“'paJJOh
n(y) : ~—221y0 ) \/61-:? Ty\(y)

Lemma. Let x € CF (F2) be arbitrary. With the notation as above we have

To(z) = 7(2)1 = T(z) 5;

in norm as n — 0o. That is, limy,_so0 T =T in the point norm topology.

Ficure 1. Public Domain, Jim.belk at English Wikipedia, Public domain, via
Wikimedia Commons

xe ([FY x=%,tx,
o J. = .0, 4 ¥e ¢
+§;44D.+ *EZ'F”:‘ 41:2)4 ia
X4: Z 0(4’54- é
3 , _U _ @
170)-TG) I = 1T (T0) %073 ) ~T6

e 0 ) =T S
(LMM ')l I Iu(x]—vxa -’C()‘) 1=T¢

YA T.7(x) DX
—,“pvﬂ'wdlw:) X) o




















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































3

Lemma (Lemma 2.6 from ISEM notes). Let A be a unital Banach algebra. If x € A with
11 —=z|| <1, then x is invertible and z=1 =320 (1 — z)™.

Proposition (From Joseph’s part). For every group G the canonical trace 7 : C¥(G) — C is
faithful.

Theorem. The reduced group C* -algebra C} (F2) of the free group on two generators is simple.

X € C:(Fz) x 70 Ty = ¢, (R

T(x*x)# O
T.,.(x*K) —> IT("*X) /]4

_
f_l.x

Corollary. The canonical map Cf (F2) — Cf (F2) is not an isomorphism.

4 d)
Ma+ siwv'c S ;WP

£ Cpx(’?z) —

Fw,l — 1

le.

)








































































































































































































































































































































































































































































